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A Keyboard has at least :

(A) 101 Keys
(B) 91 Keys
©) 111 Keys

D) 121 Keys

The process of permanently storing the data

is called :

(A) Input
(B) Storage
©) Output

D) Processing

Who is the father of Computer ?

(A) Alan Turing

(B) Charles Babbage

©) Simur Cray

D) Augusta Adaming

Which of the followng is not true about

Computer?

(A) Computer does not have storage
capacity
(B) The speed of computer is fast

©) Computer can not take decision

itself

D) Computer can not think itself
Primary Memory is also called :

(A) Secondary Memory

(B) Primary Memory
(9] Main Memory
D) Auxillary Memory
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10.

Which of the following is not associated with

computer ?
(A)  Bit
(B) Binary
€ Pencil
(D) Mouse

Which is a volatile memory ?

(A)  ROM

(B)  BIOS

(C)  PROM
O) RAM
BIOS stands for :

(A) Basic Input Output Software

(B) Basic Input Output System

©) Basic Input Output Standards
D) Basic Information Output System
Full form of RAM is :

(A) Random Access Memory
(B) Read Access Memory
(C) Rapid Access Memory
D) Read Ample Memory

IT stands for :

(A) Information Technology
(B) Integrated Technology
(@) Intelligent Technology

D) Interesting Technology

1104-D/65 (

4

10.

Frefafea & & $F e § T
T =7

A fae

B) BT

© U@

(o) N 5

P T SRR T 77
A A

B) =M

© um

0 =

BIOS &7 a7ef ® :

(A) SR 3YT ARTYS FiteaaX
(B)  Sf¥k 3YC STy feeH

(C) S YT ISTYC wosed
O)  RF THEIA ARy freen

RAM & ot &9 B :

A) oA T T
B) IS TFH THN
€ e v AN
O T Tua N

T o1 & :

(A)  ZTHHIE el
(B) &S eIl
(C)  gadiloi eFrcerisil
D) SR TFtsh



1.

Which of the followng is not a search engine?
A Google
C Baidu

(A)
(B) Yahoo
€
D) Wolfram Alpha

12. Which is the extension of saved file in MS
Excel?
(A) XLS
(B) XKS
©) XOS
D) XBS
13. Excel documents are stored as files
called:
(A) Work groups
(B) Work table
(C) Work sheet
D) Work force
14. URL stands for :
(A) Uniform Resource Locator
(B) Uniform Resource Library
(@) United Resource Locator
D) Uniform Read Library
15. Which of the following terms is not related
to Internet ?
(A)  Link
(B) Function Key
©) Browser
D) Search Engine
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16.

17.

18.

19.

20.

VIRUS is an acronym of :

(A) Vital information resource under

seize
(B) Vital information remark under size
©) Vital information remark under seize

D) Vital informative remark under seize
Some of the advantages of e-learning are :

(A) Train more independent learners in

the learning process
(B) Reaching a wider geographical area
(C)  Both (A) and (B)
D) None of the above
WBL stands for :
(A
B
C
D) Web based Listening

) Wide based Learning
) Web based Learning
) Web biased Learning

Microsoft Word is .......... software.
(A) Application

(B) Compiler

€ System

(

D) Programming

Which of the following is not a font style ?

(A) Bold
(B) ltalic
©) Regular

D) Superscript
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21. Which of the following is a Social Network?
(A) Twitter
(B) Amazon.com
(C) Gmail.com
D) E Bay
22. Which of the following is not an output
device?
(A) Monitor
(B) Printer
©) Both (A) and (B)
D) Keyboard
23. ALU stands for :
(A) American Logic Unit
(B) Alternate Local Unit
(@) Arithmetic Logic Unit
D) Alternating Logic Unit
24. Which of the following is not a programming
language ?
(A) Pascal
(B) Microsoft Office
(9] Java
D) C++
25. Full form of CD is :
(A) Compact Disc
(B) Connect Disc
©) Complete Disc
D) None of these
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26.

27.

28.

29.

30.

........ are often delivered to PC through an
E-mail attachment and are often designed

to do harm.

(A) Viruses
(B) Spam
©) Portal

D) E-mail messages

Which of the following is largest unit of

storage ?

(A) KB
(B) GB
(®) MB
O) B

Which of the following peripheral devices
display information to a user?

(A) Monitor

(B) Keyboard

(@) Secondary storage devices

D) Secondary storage media

The term one Gigabyte refers to :

(A) 1024 Petabytes

(B) 1024 Megabytes

€ 1024 Kilobites

D) 1024 Bytes

How many ways are there to enhance
learning of ICT ?

A 1
B 4
© 3
0 2
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31. What does the acronym WAN stands for?
(A) Widest Area Network
(B) Wild Area Network
(©) Wide Area Networking
D) Wide Area Network
32. FTP is an acronym for :
(A) File Transaction Protocol
(B) File Truncation Protocol
€ File Translation Protocol
D) File Transfer Protocol
33. Which of the following is not an Input device?
(A) Microphone
(B) Keyboard
©) Joystick
D) Monitor
34. Which of the following is an open source
software ?
(A) MS Word
(B) Windows
(C) Mozilla Firefox
D) Acrobat Reader
35. Which of the following enables us to send
the same letter to different persons in MS
Word ?
(A) Mail Join
(B) Mail Copy
(@) Mail Insert
D) Mail Merge
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36. ICT stands for :
(A) Information and Communications
Technology
(B) Information Controlled Technology
(9] Information Capable Communication
Technology
D) None of the above
37. Which of the following is also termed as
multimedia education?
(A) ICT supported education
(B) ICT enabled education
(9] ICT education
D) None of the above
38. CBT stands for :
(A) Central Basic Training
(B) Computer Based Training
() Computer Basic Test
D) None of the above
39. Which of the following is not included in the
four basic dimensions of ICT?
(A) Skills
(B) Infrastructure
©) Attitude
D) Personnel
40. Information and communication technology
includes :
(A) Online learning
(B) Learning through the use of
EDUSAT
(9] Web based learmning
D) All of the above
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41. A personal computer (PC) is a ........ 41.
computer.
(A) Super
(B) Mainframe
©) Micro
D) Nano
42. Microcomputer hardware consists of three — 42.
basic categories of physical equipments,
they are :
(A) Keyboard, Monitor, Hard drive
(B) System unit, Input/Output, Memory
©) System unit, Input/Output,
Secondary storage
D) System unit, Primary storage,
Secondary Storage
43. The basic goal of computer process is to  43.
convert data in to :
(A) Files
(B) Tables
©) Informations
D) Graphs
44, Choose the odd one out : 44,
(A) Microcomputer
(B) Minicomputer
€ Supercomputer
D) Notebook computer
45, A Desktop computer is also known as : 45,
(A) Palm Pilot
B) PC
(@) Laptop
D) Mainframe
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46. World Wide Web :
(A) Is another name of Internet
(B) World Wide Connection for
Computers
©) A collection of World Wide
Information
D) A collection of linked information
residing on computers connected
by the Internet
47. Each computer connected to the internet
must :
(A) be an IBM PC
(B) be internet compatible
(@) have a unique IP address
D) have a modem connection
48. Which is the right term of presentation page?
(A) Chart
(B) Slides
€ Clipart
D) Image
R is a presentation program.
(A) U-torrent
(B) Mozilla Firefox
€ MS Power Point
D) Slide Panel
50. Which sign is used for absolute addressing
in Excel?
A @
B 3§
© g
@
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51. A Computer consists of : 51.
(A) A central processing unit
(B) A memory
©) Input and output unit
D) All of the above
52. A typical modern computer uses : 52.
(A) LSI chips
(B) Vacuum tubes
©) Valves
D) All of the above
53. Which of the following statements is correct?  53.
(A) Virus improves the speed of
processing information through the
computer
(B) The Internet does not allow a virus
to spread
(@) Virus is a part of software
D) Virus is an operating system
54, Group of instructions that directs the  54.
functioning of a computer is called :
(A) Storage (B) Memory
€ Program D) Byte
95. In analogue computer : 95.
(A) Input is first converted to digital form
(B) Input is never converted to digital
form
€ Output is displayed in digital form
(D) All of the above
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56. Errors in computer programs are called :
(A) Foliage
(B) Mystery
©) Bugs
D) Spam
of. U.S.B. shows :
(A) United Serial Bus
(B) Universal Security Block
(C) Universal Serial Bus
D) Ultra Security Block
58. RAM is placed on :
(A)  Hard Disk
(B) Extension Board
©) Motherboard
(D)  USB
59. Which of the following is not a web browser?
(A) Firefox
(B) Facebook
(@) Chrome
D) Safari
60. Most World Wide Web pages contain
commands in the......... language.
(A)  NH
(B) URL
(C)  HTML
D) IRC
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

10.

11.

galeY
9

N1 @ @ © ©
=2 @ ® O
75w ® @ © ©

U U B 3k UM Bl o e I
el B, Il & AR ik T R S|

gl IR P SMloTHodRo I -Th
(OMR Answer Sheet) & & & o= ¥
ST-T= § OGN & oreEr o

Fe WX fear T SAY 9 TR erm

SMoTHodNo ITX-T%k (OMR Answer
Sheet) W % 1 ferew & 7d 3ad &3 ™
qefl e HEAFIYESs G forr S

e gt & Sukra et e e
H AT OMR Answer Sheet Iqae A
® 9 & TOe B ¥ MR B qemet

AT WY FT-GRIH A S Fhd S
frifeq mfeb & R

F3 A IF B, GE-JREH H, H-FE B
fer fou @l 9 W & e S AR

Q- ¥ SIT-ob, FICY, Jo Rl TG
B & ST O SGH ST BT a2

U & el UG SISl WuraRer § fwar an

A H U H AN WU & 9
BRI

A IR G WO S #%
g & & uegRas & @l U Wi BY
ge &1 AR yeghaw & g w0 @, @
wafdes ® st @ fwds @ gEd

JGRIH M HL J



